
 

 

 
 



 

𝐷𝑖(𝑧) =
𝛼(𝑧)𝑔𝐷

𝐶𝑃

 





 

 





 
 



 

 ℎ𝐷𝐿 =
[𝑋𝑝𝑟𝑖𝑚(1−𝑓3)+𝑓3]

1 3⁄
−𝑓

(1−𝑓)
 

 𝐵𝑧 =
∆𝜌𝑐(𝑧)

𝛼𝑆𝜌(𝑧)∆𝑇𝑆
 

 

 



 

 

 < ℎC >=
1

𝑉
∫ 𝐶(𝑟, 𝜃, 𝜑)ℎ𝑑𝑉 

  
 

 ℎ𝑚𝑖𝑥 =
(

1+𝑓3

2
)

1 3⁄

−𝑓

(1−𝑓)
 

 



 





 

 𝜂 =
1

1

𝜂𝑏
+

1

𝜂𝑌

 

𝜂𝑌 =
𝜎0+𝜎̇𝑧𝑃

2𝑒̇

𝜂𝑏(𝑧, 𝑇, 𝐶) = 𝜂0 [1 + 29𝐻(𝑧 − 660)]exp [𝑉𝑎
𝑧

𝐷
+ 𝐸𝑎

∆𝑇𝑆

(𝑇+𝑇off)
+ 𝐾a𝐶] Δ𝜂𝑝𝑃𝑣

𝜎𝑌 =  𝜎0 + 𝜎̇𝑧𝑃
𝑒̇ 0

𝜎̇𝑧 









 







   
 











 𝛾pPv = 0.5 + 0.5tanh [
(𝑧−𝑧𝑝𝑃𝑣)+Γ𝑝𝑃𝑣(𝑇−𝑇𝑝𝑃𝑣)

𝑤
] 



 



 

 



 ℎCMB =
𝜎𝑧𝑧+ΦCMB∆𝜌CMB

∆𝜌CMB𝑔
 

 

 𝜎𝑧𝑧 = 2𝜂 (
𝜕𝑣𝑟

𝜕𝑟
−

1

3
𝛁 ∙ 𝒗) 

 



 

 

 
 

𝑇̅(𝑧)
 

𝑇𝑝𝑙𝑢𝑚𝑒(𝑧) = 𝑇̅(𝑧) + 𝑐𝑝𝑙𝑢𝑚𝑒[𝑇𝑚𝑎𝑥(𝑧) − 𝑇̅(𝑧)]

𝑇𝑠𝑙𝑎𝑏(𝑧) = 𝑇̅(𝑧) − 𝑐𝑠𝑙𝑎𝑏[𝑇̅(𝑧) − 𝑇𝑚𝑖𝑛(𝑧)]

 

 

 



𝑇̃(𝑥, 𝑦, 𝑧)

 𝑇𝑟(𝑥, 𝑦, 𝑧) = [𝑇̃(𝑥, 𝑦, 𝑧) + 𝑇̃𝑡𝑜𝑝]𝑎(𝑧)∆𝑇𝑆

 𝑇̃𝑡𝑜𝑝

 𝑎(𝑧) = exp [∫ 𝐷𝑖𝑆
𝛼(𝑧)

𝐶𝑃(𝑧)

𝑧

0
𝑑𝑧]





 

 dln𝑉𝑆 =
𝜕ln𝑉𝑆

𝜕𝑇
𝑑𝑇 +

𝜕ln𝑉𝑆

𝜕𝑋𝐹𝑒
𝑑𝑋𝐹𝑒 +

𝜕ln𝑉𝑆

𝜕𝑋𝐵𝑚
𝑑𝑋𝐵𝑚 +

𝜕ln𝑉𝑆

𝜕𝑋𝑝𝑃𝑣
𝑑𝑋𝑝𝑃𝑣 



 
 

 

 





 

  



 

 

 

 

  



 

 

 

 





  

  



 

 

 

 

 
 

  



 



 



 




 

 





  
  



 

 

  




 

 

 

 

  

  



 

 

  

  
  
  
  

  
  
  
  
  

  
 

 

  
  

  
 

  

𝜎̇𝑧 

.  

 

 

 


